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Steppingstone activity
Lesson 7
LO: To multiply 2-digit numbers by 1-digit
Success Criteria:
	1. Layout your multiplication accurately (brackets in line with answers)

	2. Multiply the ones

	3. Multiply the tens

	4. Add your answers together



Model
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Now you try…
54 x 3 =				72 x 4 =			37 x 5 =			66 x 8 = 



Year 4 Maths   
Lesson 7
LO: To multiply 3-digit numbers by 1-digit
Task:
You are going to practise multiplying! You can choose to do the expanded method or the short method.
Success Criteria:
	1. Layout your multiplication accurately

	2. Multiply the ones – carry any tens digit

	3. Multiply the tens – add any carried digit then carry over any hundreds digit

	4. Multiply the hundreds – add any carried digit then carry over any thousands digit



Model of short method (for expanded method see Lesson 6)
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Make sure all your answers are in the correct columns!!!


Year 4 Maths
Main activity
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Have a go at these multiplications. Use the expanded or short method:

242 x 6 = 

361 x 5 = 

905 x 7 = 

817 x 8 = 

443 x 9 = 

628 x 4 = 
	Practice
Which calculation is the odd one out?
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	Reasoning
[image: ]Explain your answers.
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	Problem solving
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9a. Marvin says,

My starting number was 398
and Jenny's was 590. |
multiplied by 8 and Jenny
made her number 4 times
larger.

Jenny says,

The total of our two answers
is 6,376.

Is Jenny correct? Prove it.




image14.png
5a. Add the missing digits to the
calculation below.
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2. These friends are playing a game. Use the clues to help you explore what scores

they could have.

Elijah

There are 2-
digits in my
score. They

add up to 9.
My score is
less than 40.

Phoebe

I scored 9

times more
than Elijah.

Jakub

| scored 3
times more
than Phoebe.

Maryam

I won
because |
scored 7
times more
than Phoebe’s
score.
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